
Task: 

What do you need to prove triangle ABC is congruent to triangle ADC by Side-Angle-Side 

postulate? 

Solution: 

SAS (Side-Angle-Side): If two pairs of sides of two triangles are equal in length, and the included 

angles are equal in measurement, then the triangles are congruent. 

 

 

 

 

 

 

 

 

 

 

 

In this case you can prove congruence using SAS in several ways: 

1.           

2.           

3.           

4.           

Answer: 

1.           

2.           

3.           

4.           
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